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Now that we've squared the equation, we have two solutions!
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The issue arose when we squared both sides of the equation.
Let's look at a very simple example to explore further.
The equation x = 1 has one solution, which is x =1
If we square both sides of the equation, though, we get:
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22 =1
Now that we've squared the equation, we have two solutions!
e x = 1 (the solution to the original equation).
e z = —1 (a solution of the squared equation, but not the
original)
Conclusion: Whenever we square both sides of an equation,
we must check our solution(s) in the original equation (before
it was squared) to see which values are solutions of the
original equation.
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